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QUESTION 1

A customer needs multi-cloud load balancing, web application firewall, and container ingress services across on-
premises data centers and any cloud.

Which product meets this customer\\'s needs?
A. VMware HCX

B. NSX Advanced Load Balancer

C. NSX Cloud

D. NSX Distributed IDS

Correct Answer: B

Reference: https://www.vmware.com/products/nsx-advanced-load-balancer.html

QUESTION 2

What are two characteristics of a Software Defined Networking (SDN) solution? (Choose two.)
A. It allows workloads to be placed and migrated anywhere in the network.

B. It is dependent on the underlying physical routers and switches.

C. It is decoupled from the physical networking infrastructure.

D. It contributes to layer 2 network sprawl.

E. It restricts the placements of virtual machines and containers.

Correct Answer: AC

Reference: https://www.vmware.com/topics/glossary/content/software-defined-networking

QUESTION 3

What does a customer need to configure to create GENEVE backed segments using NSX-T Data Center?
A. VLAN Transport Zone

B. Virtual Distributed Switch

C. Virtual Standard Switch

D. Overlay Transport Zone

Correct Answer: A
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Reference: https://docs.vmware.com/en/VMware-Validated-Design/6.1/sddc-architecture-and-design-for-avsphere-with-
tanzu-workload-domain/GUID-B1A08A06-F475-436B-8BA4-31552450D63C.html

QUESTION 4

Given this exhibit:

Host Transport Nodes Edge Transport Nodes Edge Clusters ESXi Bridge Clusters NCP Clusters

Managed by sa-vesa-0lvclass.local v

{3 ACTIONS view  an

D Node [[+] IP Addresses OS5 Type NSX Configuration NSX Version Hest Switches Tunnels TEP [P Addresses Node Status
O # SA-Management-Ed. MoRef ID: d. 3 Hosts Not Configured
O lass.loca b991..1023 172.20.10.52. 172. ESXi 7.00 Not Configured 0 Not Available Not Available
b991..1011 1722010.51,172.2.. ESXi7.00 Not Confgured 0  Not Available Not Available
b991..1020 172.20.10.53, 172 ESXi 7.0.0 Not Confgured 0  Not Available Not Available
_ 4 SA-Compute-01 (2) MoRef ID: d. Applied Frofile: E 2 Hosts Up
] sa-esxi-05.vclass local 0906..8750 172.20.10.55, 172 ESXi 7.00 Success 3000015 1 5 172.2011.152 up
U sa-esxi-04.vclasslocal ¢365..67fb 172.20.10.54, 172. ESXi 7.0.0 Success 3000015 € 172.20.11.151 Up

Which statement is true about the host transport nodes?

A. sa-esxi-04.vclass.local is successfully prepared for NSX with a TEP address of 172.20.11.151.

B. sa-esxi-02.vclass.local is successfully prepared for NSX with a TEP address of 172.20.10.52.

C. sa-esxi-05.vclass.local is successfully prepared for NSX with a TEP address of 172.20.10.55.

D. sa-esxi-03.vclass.local had an error while being prepared for NSX with no TEP address assigned.

Correct Answer: D

QUESTION 5

A customer is planning to utilize NSX-T Data Center security services while maintaining current security services
providers.

Which two features can help the customer achieve this kind of integration? (Choose two.)
A. Guest Introspection

B. Distributed Firewall

C. Network Introspection

D. Gateway Firewall

E. Intrusion Detection

Correct Answer: BE
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